Il

@) (b)

(a) T-branch ~ AP=0.05
(b) T-branch ~ AP=0.05
(¢) T-branch ~ AP=0.05
(d) T-branch ~ AP=0.05

g] 6.14 AP:0.0S EE»‘: ) T ‘_;i“J /ﬁ\ Jl'}l; %

97

Il

\—

» dou=2
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(©) (d)

~ Re=300 -

Re=500 -
Re=800 -
Re=1000 -
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(e)

I
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(® (2

(e) T-branch ~ AP=0.05 -~ d,,=2.5 ~ Re=500 -
(f) T-branch ~ AP=0.05 ~ dow=2.5 ~ Re=600 -
(g) T-branch ~ AP=0.05 ~ dow=2.5 ~ Re=700 -
(h) T-branch ~ AP=0.05 ~ douw=2.5 ~ Re=800 -
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(), (k)
(1) T-branch ~ AP=0.05 -~ d,,=3 ~ Re=200 -
(j) T-branch ~ AP=0.05 -~ d,,=3 ~ Re=300 -

(k) T-branch ~ AP=0.05 ~ dow=3 ~ Re=600 -
(1) T-branch ~ AP=0.05 ~ d,,=3 ~ Re=700 -
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